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No. ABCDE ABCDE ABCDE it f{i &
1 krkbok xkkkk bbbk 15 1 P BR
3 kkkkk kkkkk kkkkk 15 1 P IRFF
4 sxkkckk skkkokk kkkkk 15 1 P WA
5 x * k% 4 20 FIRIN|
6 kil bokkkk kkkkk 15 1 P 34T
T xkkkk kkkkx kkkxkx 15 1 P PR
0 skkkk kokk k kkkkk 14 14 P T H
10 *kkkkk skkdok dxkkx 15 1 P &I
11 kkkk bkt kkkk 12 17 P IR
13 *kkkk kkkkk kkkkk 15 1 P HAE
14 skxkk kkkkk xkkkx 15 1 P Bk
15 skkkk kokkokk kkkkx 15 1 P &I
16 sokkkk bkl fkkkk 15 1 P K
17 ®xxx  kkkx xkkk 12 17 P FHHI
18 skwkkk sokdkokk kdkkkk 15 1 P FE
19 *x sk sokkkk kkkkk 14 14 P FhLL
21 sokkkk kk kk kk xx 13 16 P LIS
22 skkkk kkkkk kkkkk 15 1 P EEH
23 kkkkk kkkkk kkkkk 15 1 P O/NEK
24 xx x*x *xx 6 19 HH
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No. ABCDE ABCDE ABCDE &t i &
1 sk kkkokk xkkkk 15 1 P BR
3 wbkkk  kkkkk k% kk 13 5 P IRHF
4 % sk x * 5 14 A
6 * xkk kkxkk kkkrk 14 4 P 2%
7 *x * % *%x 5 14 AR
0 %k * sdkkk xk x 10 10 P T H
10 skkk %% *x $kx 10 10 P ¥&JI|
1M * * 3 18  #&EB
13 skkkkx skkkk dkkxx 15 1 P HE
14 sk skkkk % ok 12 8 P Hik
15 %% sk kkkkk  dkkx 13 5 P Bl
16 % * %% *ok 6 13 R
17 =% x xx 4 17  FH
18 *xx #% *k xx * 10 10 P FF
19 % sk * sk sokkkx 12 8 P FhIL
21 sokkk * 5 14 (LI
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22 kkkkk dkkkk dkkkk 15 1 P SEHE ¥
23 skkkkk  kkkk  skkkk 13 5 P /MK (=

£21=10
IR
W T F & B $

No. ABCDE ABCDE ABCDE & i & ') —4—

1 skkk kekkkk xkkkx 15 1 P EBR FI1EB

3 kkkk  kk * 7 4 P IRH Hr

6 x %k x4 10 &t EER

9 % % % *x 5 8 TH i

10 =* »* 3 12 PRIl BE

13 sk sokkkk kkkkk 15 1 P HeEp &£

14 %k % * 4 10 BBk BX

15 * x * x * x 6 5 P )| %

18 % x %%k 5 8 FE HEF

19 % % % % %% 6 5 P ®uL fE—

22 xkkkx kkkkk kkkk 14 3 P $EHE ¥

23 %k ok ¥k 6 b5 P /IvMA =
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1 BR #8 BR FE=x 5241

3 WH Hm WH RF 5 4L

13 B =2 He UAH# 14

15 &Nl % FR FF 554

19 ®al f— TR EEF 56 i

22 #HE ¥ A AxETF % 314

23 MK ER= IR INEE E746
A Waltz 8 Tango
No. A B C D E B No. A B C D E IJEf
12 3 1 1 1 1 12 4 2 2 2 2
3 52 6 5 5 4 36 3 455 4
3 113 2 3 2 3 1 15 1 4 1
15 6 4 7 7 4 6 5 5 2 7 6 3 5
19 4 5 4 6 7 5 19 4 6 6 7 6 6
22 3 6 2 3 2 3 22 3 51 3 1 3
23 7 1 5 4 6 1 23 7 1 3 4 7 1
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12 4 2 21 2

3 4355 6 4

1311 413 1

155 2 76 4 5

19 6 5 6 7 5 6

22 36 1 3 2 3

23 7 71 3 4 7 1
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1 1 2 2 5 2

3 4 4 4 12 a4

13 2 1 1 4 1

15 6 5 5 16 5

19 5 6 6 17 6

22 3 3 3 9 3

23 1 1 1 21 7
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ET3M 22 A ¥ $HA AEF 11112215 A BEE 210
F 44 3 J/HF K wRHF FF 11157082 A #HBE 190
FT56 15 ) & FR &FF 11157036 A B8 170
F646L 19 Pl fE— MR E=BF 11207033 A EKHE 160
LI 23 MR = INR INEE 11157074 A #HBE 80
RS 6 $HF EH Ml BeF 11114006 A 28 80
AR 9 tH =i ZRE —F 11153772 A #HBE 80
MR 10 I OBE E RA4F 11157413 A #HBE 80
ERE 14 BE BX BER BF 11154534 A #FHBEE 80
ERBE 18 FE HA QL EF 11156756 A #HBE 80
2 %& 4 LA i NI AEF 11157350 A #FBE 10
2 i 7 BER FE EF FH 11207015 A EFHE 10
2FE 11 % EB Z2EN WMF 11097026 A HEE 10
2%& 16 fk F Hig FF 11156274 A B8 10
2% 17 FWM ¥H— g £F 11093060 A #HFAE 10
2FE 21 Uy B KiEg 8UT 11157016 A #HEBE 10
1%:E 5 fll HE Ll FF 11156737 A $¥BE 1
1%% 24 FH #E FR EHBx 11107389 A HEE 1
R 15 2 {0 MEE A EF 11157348 A #FBE 0
R 5 8 /hith HRER #0O ®BEF 11157064 A FHBE 0
X B 12 Bk & Bk XF 11157308 A #HBE 0
X B 20 AQl ME WE HEF 11153380 A FHBE 0



